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Urban population share (%)

Yunnan

y = -14.14x

2

 + 1172.2x - 18354

R² = 0.92,  

p

 < 0.001

Urban population share (%)

Shaanxi

y = -2.3031x

2 

+ 482.19x - 11354

R² = 0.92,  

p

 < 0.001

Urban population share (%)

Gansu

y = 1.4112x

2

 + 93.182x - 1571.2

R² = 0.97,  

p

 < 0.001

Urban population share (%)

Qinghai

y = -0.0651x

2

 + 75.758x - 2132.6

R² = 0.97,  

p

 < 0.001

Urban population share (%)

Ningxia

y = 1.1888x

2

 + 90.145x - 4164.3

R² = 0.93,  p < 0.001

Urban population share (%)

Xinjiang

y = 32.223x

2

 - 1987.4x + 32212

R² = 0.97,  

p

 < 0.001


Figure S1. The relationship between carbon emissions and per capita GDP from 1999 to 2015 in each of 30 provinces of China.
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Figure S2. The relationship between carbon emissions and urban population share from 1999 to 2015 in each of 30 provinces of China. 
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y = -683.98x

2

 + 5556x + 1815.4
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 < 0.001
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y = -302.52x

2

 + 3778.2x + 1880.6

R² = 0.99,  

p 

< 0.001
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Jiangsu
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Anhui

y = -388.09x
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 + 3704.8x + 2649.2
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 < 0.001
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y = -211.33x
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 < 0.001

Jiangxi

y = -278.86x
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 < 0.001
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2

 + 7074x - 1137

R² = 0.96,  

p

 < 0.001

Per capita GDP (10

4

 Yuan)

Shaanxi

y = -203.87x2 + 2378.7x + 987.25

R² = 0.92,   

p

 < 0.001

Per capita GDP (10

4

 Yuan)

Gansu

y = -246.11x

2

 + 2163.5x + 812.42

R² = 0.99,  

p

 < 0.001

Per capita GDP (10

4

 Yuan)

Qinghai
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